ETEE1223 Homework 4
Complex Number Arithmetic

[image: image1.png]Perform the following operations.

43. Addition and subtraction (express your answers in rec-
tangular form):
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. (42 +j6.8) + (7.6 + j0.2)
. (142 + j7) + (9.8 + j42) + (0.1 + j0.9)

(4 X 107° +j76) + (7.2 X 1077 — j5)

. (9.8 +j6.2) — (4.6 + j4.6)

(167 + j243) — (—42.3 — j68)
(—=36.0 +78) — (—4 — j6) + (10.8 — j72)
6 £20° + 8 £.80°

. 42 £45° + 62 £60° — 70 £120°

44. Multiplication [express your answers in rectangular form
for parts (a) through (d), and in polar form for parts (¢)
through (h)]:

SEmoepe g

(2 +j3)6 +j8)
(7.8 +j1)(4 + j2)X7 + j6)
(0.002 + j0.006)(—2 + j2)

. (400 — j200)(—0.01 — jO.5)(—1 + j3)

(2 £60°)(4 £22°)
(6.9 £8°X7.2 £—72°)
0.002 £120°)(0.5 £200°)(40 £ —60°)

. (540 £—-20°)(—5 £180°)(6.2 £0°)

45. Division (express your answers in polar form):
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. (42 £10°)/(7 L60°)
. (0.006 £120°)/(30 £—20°)

(4360 £—20°)/(40 £210°)

. (650 £—80°)/(8.5 £360°)

(8 +j8)(2 + j2)
(8 + j42)/(—6 + j60)
(0.05 + j0.25)/(8 — j60)

. (—4.5 - j6)/(0.1 — j0.9)

*46. Perform the following operations (express your answers
in rectangular form):

o, i3+ (6= 8)

B+j3)—@2+j3)

8 £60°
(2 £0°) + (100 + j100)

c (6 £20°)(120 £ —40°3 + j4)

d

2 £-30°

0.4 £.60°)*(300 £.40°)
3459

1 23 1
((0.02 £10°? )( j) (62 - j\/900)




Some Answers:

44a : -12 +j34

  b : 86.80+ j312.40

  c : -0.0160 -j0.008

  d : 707.045 angle -9.276

  e : 8.0 angle 82.0

  f : 49.68 angle -64.0

  g : 0.040 angle 260

  h : -16,740 angle 160

46a : 10 - j5

  b : 0.056 angle 15.567

  c : 1800 angle 63.13

  d : 5.06 angle 88.435

  e : 426 angle 109.81
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